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waqw e hwdwywwwuppwunn | shwiwywwnwufuwung | hwdwnnn tywpwgpnypniu
hwjwnbp hwjwnbp
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/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwbnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 $NSNL UMe X - -
Cunpjwé
dwutiwlyhg
Uwutuwlyhgubpp Uwutiwygh /punnywd Uwutiwlygh wnwowplyws
e hl? . lidutinuip Huatiwligh 1 st ugtu << ppud/
nspp hwdwp ok g ’ nn
“X”/
1 $NSNL UMe X 20 400,00
Quithwpwdhu N:29 Fudwu wnwpyw £ hwunhuwund' Mnubny ul/wunugud/
<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 $NSNL UMe X - -
Cunpjwéd
dwutwyhg
Uwutwlyhgubiph Uwutiwygh /punnyws Uwutwlygh wnwowplwé
b hl? e witiuitinuip Huwutlgh |/ oy ugléh << npud/
nepp hwdwp ok g ’ nn
“X?)/
1 HNSNL UME X 20 400, 00
Quthwpwdhu N:30 Fudwt wnwplw b hwunhuwun Luguiju :
<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywwnwupuwung | Luhwdwwywunwujuwuniejwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud ugby “X”/
1 $NSNL UMe X - -
Cunpjwé
dwutwyhg
Uwutwlyhgubph Uwutiwygh /punnuws Uwutiwlygh wnwowpywéd
qul:lhgpwé wujwunwip dwutwygh Jwnwi uglzu cc S/
nenEpn hwdwp gk winwitg ’ i
“XY)/
1 $NSNL UMe X 7 740, 00
Quthwpwdhu N:31 Fudwt wnwplw b hwunhuwun' Sndwnh dwdml :
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<pwytiph <pwytph
Uwutiwlgh wwhwugubphu wwhwugubkphu
9 hwiwwywwwuluwunn | shwdwywwnwuluwung | Luhwdwywunwufluwuniejwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nbwpnud gk “X”/ nbwpnud gk “X”/
1 $NSNL UMe X - -
Cunpjwéd
Uwutwlyhgub dwutiw Uwutw wnwowplwé
ll:hg 6nh Uwutiwygh oy lll‘é! lgh . pwny
qpwnbgpw whwtinudp punpyw qh
wnbintpp dwutwygh hwdwp | /wnwug UKL, LK npud/
Uzhl “X”/
1 dNSNL UMe X 166 400, 00

Quithwpwdhu N:32
Fuiwl wnwpyw £ hwunhuwund hwngne

<pwytph <pwytph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 $NSNL UMe X - -
Cunpjws
dwutwyhg
Uwutwlyhgubtiph Uwutiwygh /punnyws Uwutwlygh wnwowplwé
b bt? e witiduitinuip Huutiligh | oy ugléh << npud/
ntpp hwdwp ok 9 ’ nn
“x"/
1 dNSNL UNe X 277 986, 00

Quthwpwdht N:33 Fudwb wnwplw b hwunhuwunu' Yupunndhy:

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu

Uwutwygh

hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwufluwunipjwu
</< wujwunwdip

hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu

/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud uob “X”/ nbwpnud uob “X”/
1 SNSNL Une X - -

Uwutwlygh
UwutwYyhgubphp Uwutiwygh Lunpwéd Jwutwlhg wnwownlws qht
qpwnbgpwsé whwhnudp /puinpqwd dwuuwlgh

1 $NSNL UMe X 4 811 480, 00

Quihwpwdhu N:34 Fudwt wnwplw & hwunhuwun Yunudp
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<pwybph <pwybiph
wwhwugubkphu wwhwugubkphtu
Uwutwlygh
hwiwwywwnwuluwunn | shwdwywwnwuluwung | Luhwdwywunwufluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nbwpnud gk “X”/ nbwpnud gk “X”/
1 $NSNL UMe X - -
Cunpjwé
Uwutwlyhgubph Uwutiwlgh dwutiwyhg Uwutwlygh wnwowpywé
qpunbgpué wiwhnudp /punnywd qhu
wmbnbkpp dwutwlgh /wnwug UKL, ££ npwd/
hwdwp ugh) “X”/
1 $NSNL UMe X 1 098 822,00
Quihwpwdhu N:35 Fudwt wnwplw b hwunhuwund® Guqup :
<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutiwygh hwdw u
wwwwufuwuny | shwdwwywwwupwunn | Luhwdwwywunwufuwunipyut
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 $NSNL UMe X - -
Cunpjws
dwutwlhg
UwutwYyhgubphp Uwutilgh /punnywd U wutiwlygh wnwowpyws
e bt? e witiquitinuip Hwubuiligh |- /oy ugléh << npud/
nspp hwdwp tgh g ’ nn
uxn/
1 HNSNL UMe X 530 914 ,00
Quthwpwdht N:36 Fudwu wnwplw £ hwunhuwund' Fuqnil :
<pwybph <pwybiph
wwhwugubphu wwhwugubpht
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwufluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud uob “X”/ nbwpnud uob “X”/
1 $NSNL UMe X - -
Cunpjwéd
Uwutwyhgub dwutiw Uwutw wnwowpljud
ll:hg a,nh Uwutilgh Py llhg lgh . guinly
qpwnbgpw whwtinuip punpyw qh
wmbnbpp dwutwlygh hwdwp | /wnwug UKL, ££ npud/
Uzbl “x”/
1 $NSNL UMe X 247 000 ,00

Quihwpwdhu N:37 GFudwt wnwplw & hwunhuwunu' Gniju unfu:
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<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwiwwywwwuluwunn | shwdwywwnwupuwung | Luhwdwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nbwpnud gk “X”/ nbwpnud gk “X”/
1 SNSNL UMe X - -
Cunpjws
Uwutwyhgubph Uwutiwlgh dwutiwlhg U wutwlgh wnwowplws
qpwnbgpwé whiywnidp /punpqwd qht
wmbintpp dwutiwlygh /wnwug UKL, ££ npwd/
hwdwp ugh “X”/
1 dNSNL UMe X 520 080, 00
Quthwpwdhu N:38 Audwl wnwpyw £ hwunhuwund” Upquyght hynpe :
<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud ok “X”/ nbwpnud uob “X”/
1 $NSNL UMe X - -
Cunpjwsd
Uwutwyhgubph Uwutwlgh dwutiwyhg U wutwlgh wnwowpyws
qpwnbtgpwé whiywunidp /punpywd qht
wmbintpp dwutwygh /wnwug UKL, £ npwd/
hwdwp ugh “X”/
1 dNSNL UMe X 3 381 300, 00
Quthwpwdht 39: Fudwu wnwplw & hwunhuwunw' Twphtw :
<pwybph <pwybiph
wwhwugubtpht wwhwugubkphu
Uwutwygh hwiw
wwwwufuwunn | shwdwwywwnwupluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud ok “X”/ nbwpnud ok “X”/
1 $NSNL UMe X - -
Lunpjwé
dwutiwyhg
Uwutwlyhgubph Uwutiwygh /punnuws Uwutwlygh wnwowplwé
qul:l hl? e wiuitinudp Jwubwbgh 0 ugtu << ppud/
wntntpp hwdwp ok wnwug ’ npw
Ux”/
1 $NSNL UMe X 195 000, 00
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Cunpywd Jwutwlyght npnabint hwdwp Yhpwndwsd swihwuh' pudupup qGuihG wowewny:
Quithwpwdhu N: 40

Judwu wnwplw £ hwunhuwunt' Tnihy
<puwybph <pwybph
Uwutiwlgh wwhwugubphu wwhwugubkphu
¢/ whwitind hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
o hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 $NSNL UMe X - -
Cunpjws
dwutwlhg
Uwuhwll:hghl;ph Uwutiwygh /punpyws Uwutwygh u;lnwgwplqwb
Y uitiquitinudp Hwutwlgh |-/ oy ugt << npud/
e hwidwn ugky IEES S
“x"/
1 HNSNL UMNe X 15 370, 00
Quihwpwdhu N:41%udwt wnwplw b hwunhuwund Gupnibg :
<pwybph <pwybph
Uwutwlgh wwhwugubphu wwhwugubphu
¢/ wy 'Um?l hwiwwywwmwuluwunn | shwdwywwnwuluwung | Luhwdwywunwuluwunipjwu
it o hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 $NSNL UMeC X - -
Cunpjwéd
Jwutwlhgltph Uwutiwlgh duutiwlhg Uwutiwlgh wnwownlws ght
qpuwntignuis whywtnuy /unnqwd /wnwig UL, << npuid/
wmbintpp o dwutwlygh hwdwp 9 ’ i
Uzhl_ uxn/
1 $NSNL UuMe X 20 988,00
Quthwpwdhu N: 42 Qudwu wnwplyw b hwunhuwund® Yubwsh (pupd) :
<pwybph <pwybiph
Uwutiwygh wwhwugubtphtu wwhwugubkphtu
¢/ whwitind hwiwwywwmwuluwunn | shwdwywwnmwupuwung | Luhwdwwywunwuluwunipjwu
e hwjwnbip hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ugb “X”/ nbwpnud uob “X”/
1 $NSNL UMe X - -
UwutwYyhgubphp Cunpjws Uwutiwlygh wnwowpyws
qpwnbgpws ﬂ;"lfz;,"n'{g" dwutwlhg qht
wmbnbkpp o /nunpjwd /wnwug ULL, ££ npud/
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dwutwygh
hwdwp ugb|
“X”/
1 $NSNL UMe X 67 200,00
Quihwpwdhu N:43  Gudwl wnwplw & hwunhuwundd' 2npugpus Jubwsh :
<puwybph <pwytph
wwhwugubtphtu wwhwugubtphtu
Uwutwygh
hwiwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwuniypjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwuluwubnt | /shwdwwwunwufuwubin
nGwpnid ugk “X”/ nGwpnid uok “X”/
1 $NSNL UMe X - -
Cunpjwsd
Uwutwlyhgubph Uwutiulgh dwutiwyhg U wutwlgh wnwowplws
qpuintigpwé wiwhnudp /puinnywd gh
wmbnbpp dwutwlgh hwdwp /wnwug UKL, LK npud/
Uzhl “X”/
1 dNSNL UMe X 30 400, 00
Quihwpwdht N: 44 Sudwu wnwpyw b hwunhuwund® Unipupu :
<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 $NSNL UMeC X - -
Cunpjwéd
Uwutwlhgubph Uwutiwygh dwutiwlyhg Uwutwlygh wnwowplwé
qpunbtgpué wiwhnudp /punnyud qhu
wmbnbpp dwutwlgh /wnwug UKL, £ npwd/
hwdwp ugk “X”/
1 dNSNL UMe X 681 500, 00
Quthwpwdhu N: 7 Fudwt wnwplw & hwunhuwund' Yhnwdhb C:
<pwybph <pwybiph
wwhwugubtphu wwhwugubkphu
Uwutwlygh
hwiwwywwmwuluwunn | shwdwywwnwupuwung | Luhwdwywunwuluwuniejwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ok “X”/ nbwpnud ok “X”/
1 $NSNL UMe X - -
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Cunpjws

UwutwYyhgubphp Uwutiwygh dwutiwyhg U wutiwlygh wnwowpyws
qpuwnbtgpué /punnywd qhu
wujwunwdip
wnbnbpp dwutiwlygh /wnwug UKL, << npud/
hwdwp ugh “X”/
1 dNSNL Une X 335 750, 00

Cunpqwd Jwutwlyght npnabint hwdwp Yhpwndws swihwuhy' pudupup qGughl wewewny
“Qunidubiph Jwuhu” << opbuph 10-pn hnnwdh 4 dwup hwdwdwju' wugnpdnigjwu dwdlbn sh

uwhdwuynud:

Unyu hwjwnwpwpnipjwt hbin Yuwywd (pugnighs nbnbyniginiuutip unwuwnt hwdwp Yupnn Gp nhdb
SUY<LUMAPL 1/18 dwodlywagpny quwhwinnn hwuduwdnnngh pwpunninup _Uunpwuhly Pwpbjwupu:

<bnwfunu' 093 212-665:

ElGynnpwuwihtu thnun' gnumnertmv@yandex.ru :

Mwwyhpwwint' ShGrUL UE0-h ULYUL RURUUUULMRULUL TNUY
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